                                         Приложение 2                              
                                   Тест из заданий   ГИА 

      I вариант	       II вариант
	1. Найти значение выражения:     


 -2( )2
А.   9,6            Б.  0              В.  0,38         Г. 2,4

2. 

Вычислите:         (2 )2  + (-3 )2
А.   42             Б.   18            В.   60           Г.   6

3. Найти значение выражения:  


0,5   + 3 
А.    62,93           Б. 0               В.  8,2         Г. 1  

4. Найти значение выражения:   


  - 0,5 ()2
      А.   141      Б.     9.            В.      6              Г.    0

5. 
Вычислите значение выражения:   
А. 0          Б. 0,7           В.1             Г.0,1

	1. Найти значение выражения:     


 -2( )2
А.   8,75          Б.  0,1              В.  0,28         Г. 3,6

2. 

Вычислите:         (3 )2  + (-2 )2
А.   47            Б.    8           В.   70          Г.   16

3. Найти значение выражения:  


0,5   + 3 
А.    0           Б.     58,61           В.  8,1           Г. 1

4. Найти значение выражения:   


  - 0,5 ()2
      А.  7           Б.  121         В.      6              Г.    0

5. 
Вычислите значение выражения:   
А. 0              Б. 1            В. 0,3            Г. 0,1      
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